X7 - TEGIRE

1

2

DUroM@EZFRE L. ELWEZ ZHEMICEEA LR Z W,

(1) (+15)+ (—28)
(3) (+4) — (+10)
(5) (—3.37) + (+4.3)
m (+5)+(+3)

(9) (=3) x (-?) « % X 0.8

(2) (=8) x (+3)
(4) (+20) x (—14) + 5

(6) 354+52—21+4+45

9 (-13) * (+35)
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(10) 3z + 7z

2 2
(12) — gab +ab+ gab
(14) atyt = a3y

(16) 5x(2z + 3y) — y(3x — 6y)

UToABAEFHEL, 2 0%
(18) 13z — 170 = 29z + 230

(19) 2(z —5)—3(z +3) =4

(20) 2z =3(3x+5)+4(z—1)

(1) — 4y — 62
(13) 2° x 2*
(15) (2°)*

(17) (623y — 142°y®) = (—2xy)
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(1) (+15) + (—28) = —13
(2) (=8) x (+3) = —24
(3) (+4) — (+10) = —6
(4) (+20) x (—14) = 5= —56
(5) (—=3.37) + (+4.3) = +0.93

(6) 35+52—21+45=11.1
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5 T 125
(10) 3z + 7z =10z
(11) —4y® — 6y* = —10y>

2 2
(12) — gab +ab+ gab =ab

(16) 5x(2x + 3y) — y(3z — 6y) = 1022 + 122y + 63>
(17) (62%y — 1422%y?) + (—2xy) — 6y = —32%y? + T2zy? — 6ay
(18) 13z — 170 = 29z + 230 = 162 = 400 = = = —25

(19) 2(x—5)—3(z+3)=4=20—-10-32—-9=4= -2 —-19=4= -2 =23 =z = —23

(20) 2z = 3(32+5)+4(z—1) = 22 = 9z+15+4x—4 = 22 = 132411 = —1lz =11 = 2 = —1





